



VPR Brands LP elevates product design and formulation to meet consumer taste and expectations for a truly world class experience. We partner with the top international brands to elevate and accelerate their products into the forefront of our industry. Vape Differently.

VPR Brands is a technology holding company, whose assets include issued U.S. and Chinese patents for atomization related products including technology for medical marijuana vaporizers and electronic cigarette products and components. The company is also engaged in product development for the vapor or vaping market, including e-liquids. Electronic cigarettes (also known as ecigs or e-cigs) are electronic devices which deliver nicotine through atomization, or vaping of e-liquids and without smoke and other chemicals constituents typically found in traditional tobacco burning cigarette products.



SUB OHM SERIES STARTER KITS



Mayerick Sub-Ohm Series

UPC: 812363024308 INCLUDES:

- 0.5 ohm Coil
- Stainless Steel Refilable Tank
- Adjustable Air flow
- 30 watt 2200 mAh Battery
- Micro USB Charger
- FREE 3ml Fruity Cereal 0 mg MSRP: \$36.00



Maverick Replacement Coil UPC: 812363024681 INCLUDES:

• (5pk) 1.0 ohm Coil MSRP: \$19.99



Mamba Sub-Ohm Series

UPC: 812363024322 INCLUDES:

- 0.5 ohm Coil
- Stainless Steel Refilable Tank
- · Adjustable Air flow
- Adjustable Wattage/Voltage
- Up to 30 watts
- Built-in 2200 mAh Battery
- Micro USB Charger
- FREE 3ml Fruity Cereal 0 mg MSRP: \$42.00



Mamba Replacement Coil

UPC: 812363023516 INCLUDES:

- (5pk) OCC 0.5 ohm Coil UPC: 812363024933 INCLUDES:
- (5pk) Ni-200 0.5 ohm Coil MSRP: \$19.99





Presidential Starter Kit

UPC: 812363024308 *NEW IMPROVED*

Presidential 2.0 comes with a larger Pyrex glass tank with increased liquid capacity. 900 mah battery.

MSRP: \$29.99



Presidential 2.0 Replacement Coil

UPC: 812363024964 INCLUDES:

• (5pk) 1.8 ohm Coil MSRP: \$19.99

Vaporin



UPC: 812363024858

Display Includes:

- 3 Maverick Sub Ohm Starter Kits
- 3 Mamba Sub Ohm Starter Kits
- 3 Presidential 2.0 Starter Kits
- 3 Pres 2.0 Coils
- 3 Maverick Coils
- 3 Mamba Coils
- 24 Premium E-Liquids

48 Sub Ohm Series E-Liquids

FREE POS

MSRP: \$1424.10

Sub Ohm Series 30ml 4pks

Available in Omg 3mg and 6mg Nicotine levels.

	0mg	3mg	6mg	MSRP
Strawberry Yogurt	812363024155	812363024148	812363024162	\$12.00
Tropical Medley	812363024117	812363024100	812363024186	\$12.00
Fruity Cereal	812363024094	812363024087	812363024179	\$12.00
Cinnamon Caramel Roll	812363024131	812363024124	812363024193	\$12.00





	CUSTOMER #:	
	STORE NAME:	
	BUYER NAME:	
BUYER EMAIL:	BUYER PHONE:	
SHIPPING ADDRESS:	CITY:	
	STATE: ZIP:	
NOITGIROSEG # METI	N I UNITS I MSRP I % MRG	S I OTY I TOTAL

1 75 8.4	ווסכ	NEC COIDTION	O TIMI	N A C D D		717	*^*\
I EIVI #	OPC	DESCRIPTION	CIVIT	VIORE	% IVING	2	ICIAL
DELUXE SUB-O	ELUXE SUB-OHM MOD STARTER KITS	RKITS				Rı	Right / Bottom
X085-BLK-PRK	812363024292	IPV-D2 Mini + Subtank Mini KIT - Black	\$90.00	\$144.99	37.93%	3	\$270.00
X089-WHT	812363024865	KangerTech Subox Mini KIT - White	\$65.00	\$94.99	31.57%	3	\$195.00
X084-SLV-PRK	812363024278	JoyeTech eGRIP OLED-CL KIT - Silver	\$47.00	\$74.99	37.32%	ω	\$141.00
X090-BLK	812363024872	JoyeTech eGo One Mini KIT - Black	\$36.00	\$54.99	34.53%	ω	\$108.00
S, 1	ANKS & MODS					Right /	' Middle Shelf
X063-BLK-PRK	812363023332	Ego Twist Vaporizer KIT w/ Zipper Case	\$15.00	\$24.99	39.98%	3	\$45.00
X100-SLV	812363024971	iStick 30W + Aspire Nautilus Tank KIT - Silver	\$52.00	\$79.99	34.99%	3	\$156.00
X073-PRK	812363023493	Subtank Nano T	\$30.00	\$44.99	33.32%	2	\$60.00
X094	812363024919	Aspire Triton Tank (0.4Ω)	\$30.00	\$44.99	33.32%	2	\$60.00
X092-BLK	812363024896	eLeaf iStick TC 40W Mod - Black	\$36.00	\$54.99	34.53%	2	\$72.00
REPLACEMENT	COILS & MOD BA:	TTERIES				Right	
X097	812363024940	Samsung 25R 18650 Battery (2 pack)	\$13.00	\$19.99	34.97%	3	\$39.00
X075-PRK	812363023516	Kangertech OCC Coil 0.5 ohm (5 pack)	\$15.00	\$19.99	24.96%	3	\$45.00
X096	812363024933	Kanger Ni-200 Coil 0.5 ohm (5 pack)	\$15.00	\$19.99	24.96%	ω	\$45.00
X086	812363024681	JoyeTech ONE-CL Coil 1.0 ohm (5 pack)	\$15.00	\$19.99	24.96%	ω	\$45.00
X099	812363024964	Aspire BVC Coils 1.8 ohm (5 pack)	\$11.00	\$17.00	35.29%	2	\$22.00
X098	812363024957	Aspire Triton Coils 0.4 ohm (5 pack)	\$14.00	\$19.99	29.96%	2	\$28.00
VAPORX 30ML	USA MADE "CLAS	USA MADE "CLASSIC" PREMIUM E-LIQUIDS			Left	/Top	& 2nd Shelves
X087-TOB-18	812363024704	30ml E-Liquids - Tobacco 1.8%	\$5.00	\$9.99	49.95%	4	\$20.00
X087-MEN-18	812363024728	30ml E-Liquids - Menthol 1.8%	\$5.00	\$9.99	49.95%	4	\$20.00
X087-MET-18	812363024735	30ml E-Liquids - Menthol Tobacco 1.8%	\$5.00	\$9.99	49.95%	4	\$20.00
X087-HAV-18	812363024766	30ml E-Liquids - Havana 1.8%	\$5.00	\$9.99	49.95%	4	\$20.00
X087-ICC-18	812363024773	30ml E-Liquids - Icy Chill 1.8%	\$5.00	\$9.99	49.95%	4	\$20.00
X087-TOB-03	812363024698	30ml E-Liquids - Tobacco 0.3%	\$5.00	\$9.99	49.95%	4	\$20.00
X087-MEN-03	812363024711	30ml E-Liquids - Menthol 0.3%	\$5.00	\$9.99	49.95%	4	\$20.00
X087-MET-03	812363025015	30ml E-Liquids - Menthol Tobacco 0.3%	\$5.00	\$9.99	49.95%	4	\$20.00
X087-HAV-03	812363024742	30ml E-Liquids - Havana 0.3%	\$5.00	\$9.99	49.95%	4	\$20.00
X087-ICC-03	812363024759	30ml E-Liquids - Icy Chill 0.3%	\$5.00	\$9.99	49.95%	4	\$20.00
VAPORX 20ML	USA MADE "SPOT	LIGHT" DRIPPER E-LIQUIDS				Le	Left / 3rd Shelf
X088-STL-03	812363024803	20ml E-Liquids - Lemon Berryade 0.3%	\$6.50	\$12.99	49.96%	4	\$26.00
X088-TAT-03	812363024810	20ml E-Liquids - Tangy Tart 0.3%	\$6.50	\$12.99	49.96%	4	\$26.00
X088-ISB-03	812363024827	20ml E-Liquids - Island Bliss 0.3%	\$6.50	\$12.99	49.96%	4	\$26.00
X088-MOJ-03	812363024834	20ml E-Liquids - Mojito Ice 0.3%	\$6.50	\$12.99	49.96%	4	\$26.00
X088-MAM-03	812363024841	20ml E-Liquids - Mandarin Magic 0.3%	\$6.50	\$12.99	49.96%	4	\$26.00
DISPLAYS	CIRCLE OPTION	DISPLAY PIECE	WHT	BLK	SLV	QTY	ENTER \$
XD022-###	WHT / BLK / SLV	Product Display Rack (24W x 9D x 23H)	\$75.00	\$175.00	\$200.00		
XD023-###	WHT / BLK / SLV	Display Tablet Header (24W x 9D x 11H)	\$250.00	\$275.00	\$300.00		
XD024-###	WHT / BLK / SLV	Lockable Storage Base (24W x 9D x 36H)	\$175.00	\$200.00	\$250.00		
* XD022-WHT is d	XD022-WHT is discounted 50% off - Intro Pricing	ntro Pricing * XD023 (all colors) includes 10.1" Tablet w/ interactive Vape Store App	Tablet w/ in	teractive V	ape Store A	dd	

This order constitutes a written agreement, subject to the terms and conditions on hereof.

v.102015